D1visION: LARGER NUMBERS (H - SET 2)
DIVISION WITH -10 TO 10

Name:

Time:

Score:

w0 27391 + (=7) =
w1 35231 + (=7) =
s —17952 <+ (—4) =
w1 —4374 + 6 =

) —37926 + (—9) =
s 92500 + (—10) =
5 —55170 + 6 =

w - —31900 +4 =

W) 36312 = 8 =

w9639 + (—7) =

Mathematics: Division - Level 4 - Horizontal - Set 2

11

191)

192)

193)

194)

195)

196)

197)

198)

199)

200)

8212 +4 =

5621 + (—1) =

—5080 + 1 =
27042 + 3 =
—14274 + 9 =
61443 =+ (—9)
20167 = (—7)
42385 =+ (—T7)
6645 =5 =

40415 + 5 =
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